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CHAPTER I
INTRODUCTION

Each :}éér éeferal. Kthousa;na puﬁils in the diatrict schools
of Kansas are faced with tﬁe 'ﬁa\s‘k of securing a passing mark in the
county exsminations as provided by 3.aw,“"’ whila at tim same time
hundreda éi‘ Kangasg teaahers are confronﬁe& with tbe problem of aide
1ng their pupils in making a passing mark. '

With papils these amminations are a :t‘inal hurﬁl.e to be -

v orosaed before they may receive their diplomas admi‘bting them to
H}.gh Sehool, ami consequently many of them tmin; atrenuously in ore
dor that they may ssil over witn,flyiﬁg dolors. The period before
the exsminaﬁans is filléd with a last mimﬂse attempt to prepare

| on what théy and the taacheré l:f‘eel may be asked‘

The 'taééher, knowing that often his reputation ss an in-
structor is; 3&&3@& Ey wheﬁher or not his pupils "pasd the exemina-
tions, does his best to insure that those about o undergo the or-
deai know the answers vi;‘o nwa’t of the queét’iane asked in thése gxemina-
tions for the pasﬁ fow yaﬁr& Review books cvbvéring this mate:éial
k- may be obtained from aavera]. publishing houses and are quita extenw

sively used. (2) .

1. Kansas Statutes, 1913, Chapter 271, Sec. 2
Kansas Statutes, 1923, Chapter 182, Sec. 1
Kansas Statutes, 1911, Chapter 263, Sec. 3

2, "Clessified Eighth Grade Examinations”, School
Speclalties Cosy Sloux City, Iowa. ;
"Kangas Eighth Grade Question Books ", Lincoln
School Supply Cos, Lincoln, Neb. :



When pupils fail in the examinations the reaction of pany
parénta is to blame the teacher. In some cases this is ﬁnaoubtedly
'whera'it belongs. lowever, the‘feeling that the failure of a pupil
in a small rurel district is more likely to be followed by umpleasant
results to the teacher than will the failure of a pupil in a larger
system, together W1th:£hé‘iéeé thnt:onéydisapprbving patron in a
rural dlstrict may'cauéefé,téééhéf to 1bsé‘histeb“réga§ﬂleas of
ﬁis ﬁor£h. ﬁeﬁds to havé“tha‘effect of causing the teacher to do
vueverything in his power ﬁn aée that his profassional reputation is
maintained. The ataﬁamant,‘"ﬁe has never had a ﬁﬁpil to fail in
the county éxaminatiane“; casts a halo abéut the head of an other-
wise mediocre teacher. ‘ |

There are several ways whereby a teacher may avert this
unpleasant situation. 1. He may use his ihtalligencé; knowledge,
and skill throughout fha year in elding the pupil to acquire a true
mastery of the work. 2. He»may spend the last month or so before the
county examinétions in an atbempt to drill into the pupil those
f@cts and items which have been asked in the yast or may be aaked«
‘1ﬁ this exsmination. 3« He ﬁay zive the pupii such a high mark on
his ﬁﬁaily grades" ana‘bimanthly examinations that the pupil can
receive & 1o§ mark in the examination, and yet the average of the
examination and teacher's marks will still be above the aeadline.

It e no uncommon occurrence o hear teachers eriticize
the county examination syatem severely, especially if the efficacy

" of their own instruction is being measured by it. Whether or not



their qriticwmé are justifiable depends upon whether or not the
examinations measure that which they purport to measure--their
validity. If the aoﬁnﬁy ekamination ag 311; exists today is valid,
there can be little fﬁndmelntéi "aemse for complaint, If, on the
other hana, the system da% xmt measure what it pretanda to meaaure,
eriticism is justifiab:t.a. |

Teaehera ere sometimes accused of delibarately giving
vieaker pupils higher marks than thay ‘really deserve in order that
these marlcs, may eompenaam for a low mark in the examination- Little
cen be sald in defense of i‘.khyia practice, if it b8 true,. - |

. If a toacher's mark is %o nie’an much, it muat be as nearly
an accurate measurement of the actual achievement of the pupil as
1t is humanly possible for the teaohe»ri to determine, using all the
devices and techniques. of the modern method. On the other hend,
1f an examinstion mark is ta,maén much, it must be the result of an
aucﬁraw, objactive scoring of a valid, reliable examination.

The period of intensive review and drill preceding the -
county exeminations is aamatimes cri.tiaizea, the erities inmmating
~ that if the sub ject matter were wrefully and thnroughly taught;
throughout the yaar, it would be unneﬁassary,for pupils and teachers
to resort 1_:0 the final""argming period" which is indulged in by
80 many schools. The justification of this oriticisu rests upén'the
- fact as to whethar it is the:pupila‘ Teal aehie;vemen;; in and mastery

of the sub,ject which is increased; or whether the gain is merely in



- ebility to pose tho spocific exanination, ALl tﬁia leads beok to
tho question of the mim&w of the examination; is it & noagurse of
‘t«ha pupila’ setual emmmm, or s 1% e aubjmﬂv& antinate of
@hat they knows Ea | '

‘ | }?mm ptill anothor point of view, ﬁ“ iﬁm&.&i@eﬁ(ce consiets
of ahiizws ﬁo_mﬁm the mma of azwii;mmzent, w is & ‘mark u&i‘ Lot
twiligam@ % adoguately noob ﬁz&é phage of an ;amimmmmml. PEODm
l&m' which 'mmmy emﬁﬁanm.mnﬁmﬁa of gmﬁ:im and teaghers in Hane |
‘esf.ag. ‘&%fho' knows but "mﬁ%& a u@l&&a%m of émmim%im q&a@mna mr

the gﬁaﬁ féw years wonld ma%m B good %x@ boolte



CHAPTER II
PHESENT STATUS OF THE PROBLEM

| A8 far aa ﬁha”wriﬁar:has béeﬁ able to,&iacOVar* nothing

regording these phases’aflthelédﬁnty examinations 1# Khnsas haa>been
- published. The systen ‘seoms o have been taken és a matter cf eouraé '
anﬁ no atudiaa deemed ef ﬁuffieiant xmportanca to jJustifly puhlica~
tion have been made. |

A summary of tha systen itself follows. On a specified
‘daté,'a;weak:befara the elaée of most df the schools oftbﬁa\atate;
pupils taking the exéminaﬁiaﬁa report t0 ﬂasiggatad oxamining cene
tors, usually the county seat or the 1érger‘ach0aia of the county,
‘where, dnder the supervision of individuals appoihﬁed by the County
 Superintendent, they wrifw on the exeminations. These examinations
| are seﬁf out from the office of the State Superintendent of Public
Inatruétiun invprinted fonm'(l)

The axaminatinn papers are then tranamitted to the county

auperintendant, where thay are scored by an Ixamining Board ap~

pointed by ‘the Caunty aunerintendant.‘ Bach paper is given s percent-

e age graaa.

- Previous to the examination each teacher has sent to the
dédnty'Superinten&ent a card for each of his pupils taking the
examinatidns, on which is placéa the ﬂ&ailyrgrédeé" af’thavpupil;
.hié biamonthiy examination grade, énd.tha average of tﬁelfwo, in
each sﬁbjeet, expreagsed in percentage. | S

‘1. See appendix, p.6L

i



This average, hereaftor referred to as the tescher's mark
(P M), is ‘av"era@ed with the county exemination mark (C E), each being
 given sn equal welght, to furnish the final aversge for the subject.
This final average will‘heraaﬁer be ‘éalieci, in the ‘case {)f Arithme-
tie, tho Arithmetic average. (A A) e

‘I‘he :i?inal Wera@ea in &13. subjecta are then averaged, sach
being g,iven equal weight, to proviae the mploma &varage upon which
tha failure or emeeas‘ua vof ther pupil is basad. This Diploma Average
musL mt be less than "80" with no subject mark lower than "60".
Lxceptiona to this ave snmatimes made, particularly in the ngon re—
quirament. “
| Different examinations are given to i;he eight ‘an'd ‘i
month aohools, the proceém-e being $he same in each case. The eight
month schools take thei:v axmninaaions a mcnth earlier than do thosa

with a term of nine montha.



© GHAPTER III
| THE SPECIFIC PROBLEM

~ Among the questions which arise regarding the county ex-

‘amination system as 1t operates in Kensas are the following:

1.
2
Be

4o

Se

Are county examinations valid measuring devices?

Ave teachers' marks vallid measuring devices?
Is the "final average" a true measurs of pupil‘ achiovew
ment?

Which of the above is the most valld measure?

Will a combination of the teacher's merk and the county

- exemination mark provide a better measure of pupil

N
7.
-8

9.
10.

achisvemsnt than either alone? ‘
I so, wh‘at weight should be assigned to the dciunty OX=
emination mark?

Do teachers consistently tend to give higher marks %o

weaker pupils than they roally deserve?

Does the period of intensive review result in a gain
in aqhiévement for the group as a whole?

In what parh ,a;%mtribution is a gain or loss noted?
%’hich teﬁd to make the greater improvement, ‘boys or |

girls?



Ghapter IV
PROCEDURE

| Pratt County, e southecontral, agrioultural county in Eane
gas was choson for this ntmiy. ohisfly biaemma of the faot that as
f.hb writer toaches in this mmnéy‘. 3t would be emsier to sooure the
neogassary .aaopemﬁirm of the County Superintendent and %mhafs.

It 48 realized fully that the eduoational aimaﬁim; in Pratt County
may not be &upuaahad in every county of the sﬁﬁ:@, yeot it is the
‘opinion of the writor that Pratt County te £airly representative,

The study was carried on during the spring of 1930,

In arder to 1imit the fiold to a sufficlently narrow
soope as to euébla 8 fairly intensive study and yet to couse the -
minim interference with ﬁm work of the various schools and sooure
mxm 6oopemt£on from the t;eaohars, one subject, arithmetic, ves
soleotod as the basis of the study, |

4 Arithmtic wae chosen boosuse of tho fact that it is one
of tho subjects in the ourrioulum considersd most fundemental, and.
" upon which great amphaaié §s laid, particularly in the rural achools.
Furthermore, it is generally supposed that fm‘ its nuturé » ao‘ovlng
and mrkﬁng in arithmotioc my be carried on with more objootivity
than in 6th’m* subjeots, One may expsct that teachers! marks and
" county examination mm'ks in this subject will be among the most
objeotive marks given the pupils,

Arithmotio is one subject in which thers has ‘ﬁaén mpid

progréaa in the moasurement of rosults, Henoo, the availability of numerous



» teéta_of accepted validity was én argument which coﬁiﬂ not be ovorw
1o¢kéd in $he selection of %ha‘subjact for atudy.
o Three phases of s,mthmea‘bic&l ability we‘ra:selemea, the
composite of the thréartp fcrm‘tha critorion against which to msasure
the county examination and teachers' marks; first, ability in fune |
. demental operations as measured by the}%odﬁyﬂﬂccall Mixed Fundamentals
test; second, gbility to read a4 problem and'understanﬁ it, determine
the prbcesa to be uaéa,‘anﬁ approximate the answer as measured by
. the Stevenson Arithmaticrﬁsading Teﬁt' third, abiliﬁy in the solution
of problama as maaauraa by the Buckingham 3Scale in Arithmatic.f

The increase 1n achievement wes determinad by the changas
in scores made on two forms of the above tests edministered one |
month apart. ‘

In gathoring data, the assistance of the County Superintens
k dent was invaluable. .Itjﬁas he who supplied the data regarding the
teachers' maiks, county examinatian mearks and averages; as well as.
reasauring teachera suapialous as to the mntives back of the- stuﬁya,

‘ithout bhe help of the {teachers of the Gnunty, 11ttle
(1)

eould hﬂve been aucampliﬁheﬁ. A letter'™ was $ent to the teacher
‘of each school having eighmh grade pupila who were to take the county
@xuminations. This 1qttar explained the nature and purposes of that
.study and asked ﬁhair help. With threo exceptions, avery teacher
expressed a williﬁgnass to asaiat- The card upon whieh thair reply

A e A S D

1. appendix.




vas sen‘b(l) provided a blank in which each was to indicate the
| length of time spent in preparation for the county examinations.

The firet forms of the tests were mailed =0 that the
teacher would :ée;ceiva them one month and ‘three days before the
county exsminations. The next day they were to be administered.

An attempt was made to make the instructions'® sent with the tests
8o explieit that the iﬁﬁne and conditions under which the testa were
~ administered would be as uniform as pasaible‘ throughout the county.
The v:rimr‘has no way of knowing exactly how e‘adh tost was admine
istered, but he does know most of the teachers personally, and be-
lieves that each teacher did his best to carry out the instruce
tions. After the téé"t;s were admizfiatere&, they wers returned to
the wr;ter for scoring. ' |

One month later a second form of the seme test was admine
istered a;s nearly as possible under the same conditions i as the
first, and returned $o the writer for ‘scoring and taebulation.

Three schools with a total of six eighth grade pupils did
not return the second group of tests. Three pupils were absent from
eéhool when the tests were administered, while one éehool with
three pupils failed to receive the tests in time. This left a total
of 103 cases for whom data on tho final tests were availsble. In-
completeness of the data.on the first tests .i'or 11 pupils 161‘1; the
‘ scérea of 92 pupila' complete for bcﬁh the first and second tests.

1. See appendix p.6°
24 Ibid pe so

10
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,Hzt,ma,hamd that evory pupil in the :oqu;ty eligible to

the sounty examinations might be included in the study. The
writer examined all scores available for those not includsd and
found thom seattered throughout the @isﬁr;&g_ﬁinhu :éana_ggulaml;lr
‘hé jbqiﬂ,awa, that i'ieh«s, resulte ofﬁha,,afp&y wwld havo been 1little
_i:zfiuemed eithoy :vmg had i.tj. ‘been pogsiblé to iﬁp}ndnﬂ al}'l the
pupile.

: . After the aounty '@mm}hatims_ha& ‘bgan‘ soored and mrke
Néard,ad the teacher's ;ge;tfkp,fgmp@ygmmatim:gémg, arithmetio
@Wfag@_ﬁné 4£p;§m average for each pupil wﬁg -obmimvd from the

records of the County Snthan‘dam.v :



-

CHAPTER ¥
PRESENTATION AND INTERVABTADION OF DATA

m.m offort to dotormine whothor tho final wwm in
apithmotic was a mgmmnmﬁm mark the nurmm%m wag found by
the dlfference mmsam mm*faem the arithoetic sversse and Uiplono
avoragos B! 4n 2 of 476 = 4087, k = .08, indicatos that the Arithe
motic @vamﬁ io a sipnificant Pfactor in tho Diploma AVETAZO.

Aftor all scores had boen arpansed in i!mgﬁ@xiiégr ﬁ&m;mbm
tiong, it was discoverod izi the caso of the Dtovonoon ywitm'bia
mmﬁﬁng toat that a veyry nogoatively fs%mwm ﬁkam%wmm (mﬂ« Fige
m wae progsent in tho aamm f’mm of tho teot. [widontly tho toot |
was Yoo onsy, o the x}m@im affect of the first test ﬁaaa m&ﬁw
Consequently, it wee bolieved thab the mmﬁ.ﬁé of the firat stevens
son teot would mive & mOre ACCUrato moasure of tho rélm:ﬁé achioves
ment of each merber of ‘mm groups Hongo m@ rosults of tho fivet
Jtevenson %ﬂf wore used mmﬁw seores of tho socsond Woody-ielald
azx& Buekinghen taaw to ifwm‘ex coanponito score; this complote soore ~"wa‘s
ta sorve os a eritorion %ai.m:ﬂs which to meusuro the coufdby wmim-

. tion ond wacmm’ mma.
Seoros ﬂ.n tho Duckinghan teats wero reported in torma of
_ numb@ of mbblma solved aorreotly. This msﬁhbé of scoring implien
a oimilority of difficulty in the probloms whioh may not be eatirvely
1o Ctie, A Doy Ditatlstioal Nothod in Zdueationsl

longurenonts, De 18D,
e Sopo Diogronm I, ps v1
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warranted, bt it has the sdvemtage of being a s_impla, direct and |
aaaily understood procedure. _Enwhemore. a pupil solving no prob-
lems connot be assigned a score on the scale. .‘Savveral pupils failed
to golve any problems. It was belleved that the ability to sssign
these pupils a sco:fé and include them in the kst&dy would outweligh
any deviations incurred from a chenge in the method of scoring.

Percentile scores wam‘ then caleulatéd(l)b for each pupil
in each Qf_‘ the “iabpve“teatap . The pm*centi.le, séorea wers then aver-
, ageé, to find _‘hhé Criterion seore. Table I ahéwa the ’é?codyeﬁ&ccéli,
Stevenson and Buckingham scores from which the Criterion score was |
oﬁﬁéinea, the Criterion seore, County Exmnatign mark, fregehex;s'
"iéark, Arittxﬁatio Average, and Diploma Average. |

Figure I indicates the distribution of the County Exemina-
tion and Teachers' Marks. The .r‘ea:i. difference which exlsts between
the two(g) both prsfending to moasure achievement in Arlithmetic,
will be readiiy noted. Dvidently they do not measure the same thing,
or they do it in a difforent way. | '
' In order '1:9 determine the predictive value of these marks
- the correlation technique was empluyeéu An 1 of 206 = ,063 k = .92
between the Criterion and the County Examination,marksw) indicates
that in so far as ﬁhe Criterion may be c’onsideréd valid, the predic-
tive value of County Ixaminations as to pupii 'achiavement in Arith-
motisc is very low. Nevertheless these }narke are counted as one-half

o b o sl s oy s

1. Carret, H. E., Statistios in Psychology and Education,
Pe 47. ' ’ ) ’
2. D =7.8
- F SR T '
3. See Diagram II, p.us



.

of the pupils' final mark in Arithmetic. : Evidently the county ex~
amination is measuring something other than or in addition to Arithe
motic; perhaps the inadequacy of the exemination, the mothod of

scoring, or the person scoring the oxamination.
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""" THE SCORES OF 103 EIGHTH GRADE PUPILS OF PRATT COUNTY

Woody-MeCall, Form II, Stevenson, Form I. Buckingham, Form II Criterion

16

(Grib),ﬂonpﬁy Exemination (€ E) Arith. Average (A A) Diploma Average (D A)

Pupil Woody  Stoven, Buoking, Crit. CE TM AA

MEEEN wPeold ERmDUe BEuzzdp HNoRNaed HEEmR0 dNAwe

DA
¢ 30 22 19 76, 86 91 88 88
T 28 14 13 51 60 80 70 80
c . 26 16 10 43 71 8 77 80
P 34 21 16 90 8 9 90 86
N 30 16 5 37 . 39 T4 57 76
M 34 22 5 68 67 74 66 86
M 20 13 3 9 37 70 54 70
K 28 19 8 48 B2 77 65 82
B 32 20 8 68 52 835 68 81
p 32 18 8 43 62 TL 8T 80
8 27 17 8 82 49 66 5T 73
¢ 32 17 13 72 89 88 89 8l
¢ 31 22 8 70 70 8 77 82
c 30 21 7 57 66 79 73 82
B 34 20 12 83 67 8 78 84
B 31 21 11 7% 635 87 75 73
w 30 11 7 36 66 8 73 70
P 31 20 9 68 60 76 68 81
7 26 15 7 30 71 8 78 85
K = 23 12 6 14 85 77 65 81
P 33 21 12 8 95 91 93 90
B 22 20 4 30 47 62 55 8l
W 23 12 0 6 70 8 79 80
E 24 12 1 9 88 8 87 87
27 19 8 45 95 88 92 87
B 31 20 4 62 92 92 92 85
B 28 21 7 52 61 88 80 88
E 32 21 11 80 61 95 78 BT
A 31 22 11 78 90 96 93 93
6 29 22 12 76 95 95 94 89
B 32 23 11 87 96 98 97 96
B 23 16 3 15 92 87 90 88
E 28 16 5 32 75 95 80 82
H 25 18 4 26 96 93 95 87
B 28 18 3 28 98 90 94 B4
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" DABLE I (Cont.)

Pupll Woody Steven, Bucking, Orit, CE

27 24 55 82

TW 5

HE 81 17 9 58 02
I8 29 19 5 42 83
ME 32 19 8 , 63 72
DS 32 21 9 76 90
M B 30 23 9 73 . 84
FF 31 23 13 86 96
M B 28 21 14: 71 98
PD 31 20 12 76 88
JK 32 20 13 81 86
RC = 24 19 12 50 88
MH 256 18, 12 S48 7T
AA 32 17 11 8T
AN 80 17 7 43 88
KH 31 18 10 B8 86
ES8 27 15 . 3 22 65
KL 31 16 4 47 71
eGP 27 .16 3 22 . 94
RS 30 14 8 43 84
JE = 30 11 8 41 78
oM 30 23 8 68 88
CR 25 22 6 43 79
HH 32 24 9 87 77
HPF 29 23 8 67 80
JN 26 20 7 40 85
CH 28 16 9 46 85
TR 28 15 4 28 44
B R - 26 20 4 33 74
FB 25 17 -8 35 83
DE = 31 22 10 77 88
MW 27 21 11 62 72
MHE 28 16 2 19 39
cB 30 7 10 47 60
EWN 26 21 4 40 B0
EN 28 19 8 48 49
DC 26 19 8 40 60
RO 26 18 7 35 47
HW 30 19 10 60 49
SH 27 i 3 16 23
W 26 17 0 20 60
JH 23 19 3 22 173
v M 25 14 1 13 43
KE 16 20 4 27 60
8§83 3 24 13 89 40
CN 30 23 13 81 100



Pupil Woody  Steven. Bucking, Crits CE TM AA

28 24
28 22
- 34 24
 2a "B
a7 12

.66
98 100 95 98

17 B0 80 65

8 59 80 &9

14 15
15 25 82 54

1 12
26 19
30 - 23
30 20

68 B2 - o4 88
63 79 92 86
31 23 65 . 91 92 92
- 33 22
381 - 22
- 28 20
24 - 19

65 97 90 94
30 65 86 78
26 13 ‘27 73 86 80

26 1
23 T

28 20
28 20

26 20
32 24

28 45 96 71
- 37 g2 92 72

. 43 B3 87 70
90 98 98 98

EArmUdd HeEPr UbmEe Do EERE
THUE<4dWO OWDWE rCQEan alaaR

Number oleoyg - =<~ 54
Number of Girls = = = = 49

Schools Participating - 26

67 B7 84 86
64 84 69

8 €0 80 70

40 b1 89 70

72 78 - 89 84
45 58 86 72

26 63 97 70

43 74 8l 78



It 1s 1ntereating 4o note that notwimtanamg “the oritioisms

that have ‘baen 1eveled o:b teaohers' marks s BT of .435 2 064 with a |
k of .90 batwean the criterion and Teaohers' }mrks 1 shows that the T.M..
are a better predictive measure of pupil achievement than are the C.E.
marks._ : : ‘ |
‘ S of 2.79 givea 97 chances in 100 that the
difference ia greaotgr fhan zero, It may then be ini'erred that the
- T.M., a.re approximately a7 par aant better pred:lctive measure of pupil
_achievementj;han are the Q.E.,marks. Heither has» much of whioh to
boasfl. N T v
‘ A correlation between the Criterion and’'the Arithmetic
Average? of .319 £ ,059, k = ,898, indicated, as was anticipated, that
the Arithmetic. ‘Average_ a8 8 pradictive,msasure lies vbetween the C.E, -
and T.M. k | & ~~
Anr of 432 £ ,054, k = .05, between C,E. and 1.11,3
may. .’mdiaate that while neither 18 an axcallent measure of pupil achleve~
mant. both perhaps share the same weaknasses. It must be remmbered
that while the '.l’.M. are given by teachers, the oounty examinations are
also prepared, adminiatered, and scored more or less sub;}eotively by
teauhers. The aub,jeo’cive :judgment of taachers enters into both. :
Perhapa the above oorrslation may be due to this faotor,
| In an ahtemp’b to determine in which part of the distri-‘

bution, 1£‘ any, C.E, and T.M. oorrelate highly with Griterion scarea,

}

L A

‘1, See Diegram IIT.
-2, Bee Dlagram IV.
‘3. Bee Diagram V.



oorrelations were found between Criterion goores and G.E.~ marke, and
between criterion scores and T.M.z i‘or the upper quartile, the 1nter- 4

quartile ranga and the lmer quartile. The results are shawn balmv.

* UPPER QUARTILE

Griterion and C.B, ==-==r = ,206 * ,089 k = ,978°
Criterion and 1., =----r = 421 ¥ ,107 k= 9064
‘ PE diff, between r's = 170 A
D Dbt DL T 2L T4 2.32

| "‘m .
, Gorrelaﬁiqn is - calmost aBsent vin- -bhe“ case of the

Criterion and C, E.,k‘wh‘ile presenﬁ to‘ soms extent in the case. of 'the

.criterion and T,M, The D of 2.325 indin atea that there are about

"PE diff .
94 ahancas m 100 that the difference between tho hwo coet‘i‘icients is a

reail differe’nce. One may infer“tha.t ‘thera is a good chanaa of T.M.
being, a bettermeasure of achievement af the s'hronger pupils than are the

0. E. marks .

‘Gri-herion and C.E, =-w==r = ,206 £ ,089 k= 9'787
. Criterion and T,M, =~=-- B = ,179 % ,089 'k = ,983
" PE 4iff. between rts w~e~- = 126 ‘

D - o o o o i o gy o o 3 021

PE d

. Tho small. D shows. the extfema unreliability of
' PE diff ‘

the amnll dif‘i'erencés which exist botweon the two coeffioienta. Neither

C. I:. or T.M. have a. signifioant prediotiva value for the middle 507

of the pupils.

T e o e e o e

1. See Diagrams VI, VIII, X 5. Garret, Table XV,-p. 135

2, See Diagrams VII, IX, XI 6, Ses Diagram VIII
- 3.+ 8eoe Diagram VI o T See Diagram IX
4. See Diagram VII ¢ ,
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- LO7ER QUARTII.E
. 985}

' criterian and’ G.E. m————— r.167 i ‘.»127 ks
ks 8572

Criterion and T, M, m=e== r = 516 ¥ ,098
: PE d4iff., between rts -~---.160 ‘
D e ammnmund (17
PE dﬁ'i’ . e

uwon

Thare are abou’c 83 chanoes out oi‘ 100 that ?.M. are a better T
' measure of aahievement than are . G.E. marks for the weaker pupils. The
difi‘erence between the k's would indioate ‘hhat the superiority of the

T4, is significanﬁ.

B : "‘l‘hek'a}:ove ‘\findingé strengthen the belief of 't;he
qus;tigator that as far as this study is conqernéd, t‘each‘ers' marks
are & ;beﬁtérlgneasuré qf’ pupilwach;eveman‘h, than are couﬁty ‘examingtion;
merks, S |

& ‘However, if the county emﬁinatéioh and ﬁeaohers' merks
are iﬁtehdecfl‘toymga_‘spre A:fif;hm?iq acljx}iqvpment‘, they are not floing it
very. oor:@iatentlyv in so far as oox'-xfelgti\on with the (ciitefion is
ooncerned. ’ Théré_ i_s{g:feah room for impr'fdyaman{: in both, particularly
in ﬁxe case of 'the count;} examination xﬁﬁrks. There is 1little to be
raaid for en examinai:ioxm upon whioh onea-»half a pupil's mark is baaed
that is only approximataly 3% better than pure chance as a prediction , |
of what his score should ve. |

x'he author believes that en. Arithmetic examination, .
carefully and painatakingly prepared, wlth proviaions for objective | '
scoring, would measure soms phases of Arithmetio with a fair degree “
of moouracy. He is inspired to mild wonder tﬁﬁt the State of Kansé.a

1. See Diagram X.
2, See Diagram XI.



has mot used this type of examination. Surely if the achicvement of thovsands
of pupils and the efficiendy of hundreds of teaohers‘ is‘ta be judged byy
these emminatiana, it is nnly reaaonable to ask that they measure that which
they purpor*i; to measure . ’
szld & combined score ef the C.E. and T,M. correlate more
closaly with the Criterion scores than either one slone? Would the ‘
. results of‘ the C.E, marks which ogrrala’ce 4206 with the Criterion add any- |
thing of value o the I,H, which oorrelate .435 with the Oritericn, the
oorreiafion between ¢,E. end 7.4, being :423%
| ‘Using the nmltiple oorrelation formulal a value for Rg, 13
of .435 1 .059 was found, . Henoe, as the r between the Criterion areorea. :
and T.M, was ,435 * ,059, the C.E, marks will add nothing to the T.M.
ag a ‘predictive meaauta.-, ‘
" Do teachers tend to give higher marks to weaker pupila than
thay really deserve? In Table II the comperative rankings of the 103
pupils in criterion score, G.E, score, T,M.. and Arithmetic Average ia
shown, An binapaotian of this !:able will bring out at once the radieal
difference in rank of ident'icaljpupils on the various scores, Withautv
exception évery pupil in the lower decile of Criterion scores is assigned
é. higher rank by his teacher than his Criterion rank. Pupil H.W, foi* : |
example ,b ranking ioa in the Criterion column, has a T.M, reank of 4‘9;5."»
T W., a boy, ranldng 91 in criterian score. has a renk of 37.5 aocording

to his teacher, 8.H. with 2 COriterion rank of 95, has a T.M, rank ot‘ 7. 5.

‘-M‘”ﬁh

L- rglz
otia, A.8,, Statistical Method in E4, meas‘, Pe 239,
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3 CTABLE T ‘
Rank'qf Pﬁpilslgh the Basis of Griﬁerion Score, County Examination and

Teacherst Marks

Pupil crit,  C.E, TeMe o Pupil Crit, C.E, T.M.
MC ) PPN 98 : 14, "EB 45,5 15 27.5
RP 2.8 35, 4. CB 45,5 68.5 49,5
"MB 2.6 - 4, 2, BT 47 73,5 88
8B 4, 98, 43, RC 48 24 19
HB 6.6 8. . 2.  EEK' B0 84.5 93,6
HH 6.5 46,5 22,5 ME 50  46.56 &6
FF 7. 8. 49,5 EWN 80 7.9 72,6
JP 8.,  10.5 32,5 "KL 52,5 57 84
JK l0,6 28, 72.6 MH 55 10.5 49,6
CN 10.5 1.5 7.5 CH 55 31 66,5
. J B 12, . 68,5 14, IB  BS . 79.. . 666
AA 13, 18,5 7.5 S we¢ 6o 67 T7.5
“DH 1A, 0 31 - 14 "VH 80 - 82,6 b6,
¢e¢ 17,6 31 - 32, 5 CR 60 42 77.6
PD  17.6 24 27.5 HD 60 67 99,6
6B . 17.5 0 20,5 19 . AN 60 . 24 27,5
LB 17.5 66 . 66 RS 60 35 66,5
SR B SRS | 2% RN | 4 LS 60 B0 84
DS 175 18.5 2 IB 64 = 37.6 61
. MB 2 ... -3 . . T.5 - JK 86 . 44,5 72,6
A B 2, 44,5 43 +J M  67.6. 81 T7.6
GC 23,5 20,5 - 49.5 EN 67.5 89 93.6
"MB 23,5 ., 4 . 32,6 FB . 67.85 8 . 43
RC 26 ' 69.6 77.5 DC 87.5 ' 73.5 49.6
- om - 27.6 B8O . . 97,5 VYN, 67 99,5  97.6
TH 27.5  B4.,5  77.5 BE @~ 70,6  84.5 27,5
NP 27.6 = 73,6 95.5 RW 72 62,6 88
OM © 27.6. 24 . 49,8 'FB . 78,6 .37.5 66,5
AG 27,6 = 39,5 19 RO 73.5 93.5 37.6
"CAA .82, . BO - 56 *BR 76 .  §0. 72,5
HF 8 42 .  37.5 W8 76 91 . 102
wN 32 27 7286 EH 76 48 14
Le 35 80 72,5 57 79 87 . 61
Le 35 17 27,5 PB 79 93.5 103
ED B O



Pupil Crit, CE T Pupil Crit, ¢E
MH 37,5 54,5 14 FH 81,56 4
DL 37.5 42 27 VR 81.5 96
MW. 39  B4.5 22,5 KK 83.6 73.5
BEW 40 91 7.6 vo 83.6  57.5
HE 41,5 15 32,6 TH . 85,5 8
KHE 41,6 31 37.5 VB 85.5 82,6
BC 43 62,5 91,6 - PV 87 95
TW 44 . 39,5 27,6 CJH 89 - 62.5
ES 89 64,5 95.5 eP 89 12
TW 91 73,6  37.5 ‘MH 92 . 99.5
LT 93 102 88 E B 96 = 15
SH 9 108 = 7.6 ET 95  102.5
MK 97 = 84,5 93,5 v M 98 97
FM 99,6 102,6 101 RE 99,6 24
LHE 101,6 73,6 88 - L8  10L5 78
HW 103,  59.5  49.5 ' , .



26°

' Marks of Pupils Assigned a Mark Acoording to Rank
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o mABLE I (Gont.

Pupil  Crit. CE rn ﬁﬂfmml Crit., CE TM
kg ¢ - B ¢ ¥VB D D A
BO. ' 0 ..0€ D .P¥ - D D B
TW. ¢ c B J B . D ¢ ¢
EB - C . B. .B ES .D c ¢
“¢P . D B D MK . F D ))
oW L p p - VH F F ¢
MBS D R g Py - F Foo K
LP TP D RE F B ¢
EB D B g LE "~ F D D
S H D . LA L8 - F D D
ET D . F D CHW F c ¢
>Qi7 Cr£te£1un V8. dounty Exgminétian-marks
1 R Higher  Same  Lower  Total
‘Upper dediie"4 M W e & 1. 4 6 11
Upper quartile = ~ = = « = =« =« - 2 12 12 26
- Upper 50% = = « = « ® & « = = = == § - 22 C .22 62
Middle 507 e e e e we w W e e 14 » 19 18 51
Lwer 50%-.«& - o= . Mu - 22 : : 18 12 . 52
Lower Quartile = « = = % = = « « - ]4 8 4 26
Lover declle = « = = v w « = = « - 6 - 2 3 1
. Entire Group = = & = = « = = = = « 30 - 39 - 34 103
criterion va. Teaohera marka |
| _ Higher Seme  Lower ~ Total
Uppe\r debiia LRI T R -‘-‘ 0 2 ‘ 9 A 11
Upper quartile = = ~ « = = & = «' = - 1. 9 : 16 - 28
Upper 50% = = = = = @ « = « & « = = . 25 13 14 52
Middle 60% = « = = w « =« w e =~ 1 - 17 , 19 - Bl
Lower 50% « = = ® = = = « = = = = =« - 23 - 17 ©12 62
,LawerQuartile--»-ﬁ---v-*»»j18 R - 2 . 26
Lower declle « = « = « = = « « - = - 8 - 8 -0 11

Entire Group = = = = = = = = = = = <« 33 33 37 103




v “B, with a Criterion rahk of 85,5 and a C.E, rank of 82,5, has T.M,
rank of 4. |

o iiif_'!’:h‘e "x'aadver is interestéd,fa study of thek lower quartile of
TABLE iI will reveal some enlight.éﬁihg discrepancies,

. Because df the fact that su’cﬁ fine distinctions as to ranks

~are not :wholly Jjustified, the writer arbitrarily ass 1énad marks to the -

'va‘.riq‘us‘ scores as follows: Yeginning at the top of the various distri-

butions,"?%”ﬁavre asgigned the #;;rk of A3 24%, B; 38% C3 24% D; 7%, F.
” Tﬁesé)”'ﬁarkskmy kbe found in TABLE III. The number of pupila
' making higher, the same, and lower scores was then determined for the
‘uppar decile . quartile, middle 50%, lower quax‘tile, lower decile,
and for the group as 8 whole,
Comparisons of the C.E, marks with the Criterion score,
and the T.M, with the criterion sgore, ars shmn in TABLE IV and

4ABLE V reapeotivaly.

TABLE IV
Deviations of C,E, marks from cri't:erion

Higher Same Lower . Total
Upper decile = = « « = = = = = 1 4 6 1
Upper Quartile = « = « = = = = 2 12 12 26
Middle 60% = = = = « = = « = « 14 19 18 51
Lower Quartile = « « « = = = = 14 8 4 26
Lower Deglle « = o w = = « = =« 6 2 3 11
Entire Group « = = = = o « = =

30 39 34 103

27
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; De.ﬂa'bions of ‘B.M. from Gr:!.terion A Hadde

gher  Same  Lower Total

© Upper quartile = = « « «w w1 9 16 26

- Yiddle 50% « = = = = = w = = 14 18 19 , 51
- Lower guartile = =~ - « « -« 18 6 2 26
;.‘._,.Lo.ver dbelle » » 2 4 4 w-aw 8 3 0 11

37 108

'
'
'
'
'
i
'
&
&

Bntira Group =

i Evidéntly teachers and county examinations alike tend to score
the lcwa:: :puéil higher than he really deserves, at the 8ame" time ranking
fhe better pupil lower. The writer reé.lizea‘ that :in ;bo’ch‘extren'es of
‘the dis’tributi‘on the diracbién of dévhtion is limitea,“vbut the fac£
that the :‘au'm of those having the same or higher scores in the lower
quartile is’knot egqual to thdse receiving lower scores éuffioiently
indicates the geneml trend. | v |

| In the lover quartile, 2 pupila ranked lower on the basis of
T.4, than the Criterion ranking, only 6 received the same ranking, while
- 18 had & higher‘rank. A slightly smaller tendemcy to underrate the
higher ranking pupils was :i'ound. In the upper and lower deciles ‘the
same tendency is noted in a greater degree.

The writer belisves that he has a good basis for omcluding
'thaﬁteachers consistently over-rate the weaker pupils , at the same
time under-rating the strungei'e . | '

As to whether or not teacheia inﬁentionally "pad" the marks

| of some ofvtheir woaker phpils, the data do not warrent & definite
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atafemaht. Thara are 1ndications that some ‘such practice nms(: have
‘been used in fmdividual oaaea.. %?hen bobh 'bhe Criterlon score and
oounty examination mark are a great deal lower than the taacher's mark
in the distribution, as 1s found in several cases in TABLE II, something
is the cause, . ‘ , ‘

| Tha writer haa no way of knowing just why the pupil received
thla high mrk from his teaoher. ‘but the fact remains that he did get
‘4t.v Tha most plausible explanaﬁion 1a that for. some cause the teacher
'felt that this pupil, although paor 1n Arithmetic. ahould hava a high
-"'marlc; perhaps~ ‘bo please tha pupil. ‘I:he parents » to get him thx‘ough
the examination, as & dafensa mechanism i‘or poor taaching, or perhaps
'-Juat because of plain 1nability to aocurately evaluate the pupilts
worlc. The readez' may. take his c:hoice, none of them refleci:ing mich
credit on the teaoher. o , | e |

Doea the period of intenaiva review result in a gain 1n

aohievement in fhe varicus phases of Arithmetio?

’ Tha approximata length of time spent in review fbr the
‘Oaunty Examinations by the various sohocla partiaipatang in the study

is ahown in TABLE VI.,



U eABLE v:t

| ‘Lengthy of ’rima Spen‘b in Review i‘or tha aounty Examinationa :

s ,Length of time o Schools

’Twadayaf--/.“.‘....‘.-
“;.TWOOrthrBe d&ys*"c-uf
~ Two weeks = « - = = = = @
Two or throo weekg =~ = « =
. Three weeks « = « = = = =
- Three or four Woeks = = -
" One month = = & = = « = =
~ TWO MONTHS = « « = = = =
’,Hareplyu--....»..--l

4mpqw¢»uww

¥ . YNo. of schools = - 26'
: ‘_Median time, Three or four weeks

o Tima spent in teview 13 aeen to vary widely, 2 schools spend~
/f:lng leaa than a weelc, w:lth 10 reviewing for one mon‘bh ‘or more. One-
‘ 1‘_} ’aighth to one-ni.nth of the achool year apenh in getting readw i;or the
  ’ ‘ommty examinations ahauld yield Mg results. A
| : frhe writer wi.ll. no*b enter 1n{:u tha controvarsy relative to
theeffioaoy af "omming" as %o dalayed mtention, etc. s but will
merely attempt to i‘ind whef:her ‘a significant gain in aohievement s
v'noted and whex-e ﬁ: occurs. no the woaker or strmger pupils gain
‘the most? Do the ‘boys or girla? . ‘ | o ’
K In problem solving ability 88 measured by Forms I and II
- of the Buckingham test, administered one month apart the change in
’the disﬁribution may be noted by an examinaticm of FIGURE II. The

difference in ’che means 15 1. 728 pcinta with a D : of 2,94, which
‘ . @ di:‘f.

indicatea a reulgain. In order to determine where the ga;'m ooourred, _ “

an analysie oi‘ individual soores 15 shawn in. TABLE VIII.



31

+ + ISNEEEE 51 Il 1 - 17 I 3 L3 1w ) 1
HHHHH HH HHHHH THHHH i HHHT HHT : t HHHH TH o T
1 T e INEEN 5 T I < s T Ty I 1 b o - 1 1 1 1 i 1T i . e
T T IESES N T : T 3T BEESBEEES] T T = T 1 I I ¥ HE { i +
. = T B AE NS ! t 1T S RREEE RS T T 1 I { T T T i
I : T ! 1 T T ! T T T i
T I I : : = e 7 { 1 } t f
t ! - : : e R A - H i
T it +H H 1T iR n T 1 553
58] 1 T i t ' 1 1 1
13 t T =) T T =) T
3 13 > T 1 I
T . T 1 1 i 8 : T %z g
: H i i H 1 : : i
T ! 1T 1 TTLILT Y I - T - 1 m)
T T = i1 T T &
Tt t +- : T 1 e 1 I
1 T 1 1 " ) 1
I 1 1 1 1 1 3 ERERE
1 L] 1 L I A, .
o I - - L]
: , S EEE EEEaE: : ; S 3
! : : i - H
1 f T T .
T T T f t 1 - T . »
3 T T t f T
T T 1 - |
!
1 'y T
; 3 %
1 T -
i ) =
t T }
: e
; ; Fos
T i1 1
ut
1
r ) . 1
8 i MR A R K
1 - o N
o
g WL N
3
1
T
Pk
1
I )
— — !
H T
= T
el Sas =) EEmmN
e HH
U man . = H 1 H
o
1
[d: ] 1 b
] r
1 H nas
Py 1 ! H ! HH
; 5 I IBNEE . o
o | EEE
o [N} 1l
i T T { 1
1 ] U T |wm il
- RN e it
R o ! o L Eas
Yo ann i EEEE PN S
:
H
i i
H
S 1 T
= & HH
= EE) :
1
:
T
1
=
I
1
T
:
o

Millimeters, 10th lines heavy

KEUFFEL & ESSER CO., N. Y. NO. 359-14



%mEWI

Booraa on. Two Forms of the Woody-Mccall, Stevenson and Buokingham
: Tests, Adminisﬁared One ﬁonth Apart

Pupil‘ Woody~Mcca11 ST ‘Stevenson o Buokingham
T ©IX : o ~£_" I ’ IX
2T 30 22 24
- .23 28 ‘ 14 - 20
‘22 26 .. 18 18
29 34 .2 20 -
’7 30 ©. 18 2y

|

i.j

14
13

10
15

5

23 s . 22 20
18 200 1
‘24 28 19 a2
33 32 20 24
25 82 18 19

28 . a1 o1

o3y B2 © 17 24

g3 3 22 2
a8 30 . . 21 28
29 4 20 o4

ot o b )
Comwi Oeomo mm&mmi
-
@ oG]

e
PDVORO

23 31 21 2
27 %0 o
28 31 20 22
31 28 15 18
‘20 28 12 18

[ -
s O I
: e
O1 =3 €O ~3

1}
i
&3
[
[}
[

29 21 22

22 2 20 4
23 23 12 19 -
21 .. 24 12 14

" 23 27 ' 1l 21

-G

QUOUIGT NOO

26 31 - 20 20
.7 28 21 19
28 . % © 21 23
33 31 ‘ - 22 24
29 29 .22 24

35 . 32 23 24
25 22 , 16 15
27 28 18 18
24 25 18 20
27 . 28 18 28

81 21 24 21
32 31 17 22
28 29 19 23

32 32 19 24
31 31 22 a1

UERKY HMEEER abLal ExNYe EoZpr HNUKed HaNwo <4rmIwe
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.. TABLE VII (Cont,)
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’&BLE VIII

Gaina and Lossea Shewn By E‘orma I and IJZ oi’ the Buskingham Soale of
. Arithmetiu Pro’blems Admxnisteraa Ona Honth Apart :

Higher ASamﬁ Lower Av. Gein .

l

Upper decile = = = = ='= 0

0 9 »2,00
Upper quartile = « « « =« § 1 17 -1.,89
Upper S0% = = » » =« = = 18 3 g7 - 419
Middle 50% & « =~ = = = =19 5 282 . .28
Lower S0% « @ « = = = « 28 5 13 1.45
Lower quartile « = « = «320 2 1 3,00
Lower decile « « « » « - 8 1 0 - 3.55

8 40 252

Entire group ~ = ~ = = =44

I% 45 at once eviden‘b that the affact or the lest month of
school on pupil achievement in abllity ta solve. pro'blema varies greatly.
Without exception the lower decile showq geins, while the upper decile
shows losses to every pupil. This same condition still holds in the

upper end lower quartiles to a marked extent, end is still present in

the upper end lower 50%. The middle 50% show ebout equal numbers of gains

end losses. :

i'he weak pupils gain while the sironger ones lose.

A lerge chenge in the distribtutions is noted in a compari-
son of frequency polygoens of fhe two forms of thé Stevenson Arithmetic
' Reading test shown in FIGURE IIi. Evidently this test is too easy, or
the practice effect is too great. TABLE Ix‘ahows the gains end losses X
present in the verious parts of the distribution. | /

5



TABLE IX

" Geins and Losses Shown By Forms 1 and II of the Stevenson Arithmetie
Reading Test Administered One Month Apart

‘Hi@ er Same Lower Ave Galn

Upper decile = « « » =« 1 S 3 4,44
Upper quartile= « « « 9 7 7 +08
Uppor 50% « « = « = = 28 2 1 67
Middle S50% = =« = « = =37 5 6 2.09
Lower S50% ~ = = = = = 40 2 4 3.48
Lower quartile = - = =20 i 2 3.87
. Lower decile = » = « » @ 0 o 5.00
11 15 8.07

Entire group « =» = = *66

N An inorease in average score ia‘ noted’fhhxf'ouéhout the
atetribution with the excsption of the upper deoils, where, es in
the Buckinghem Test, & loss is shown, Particulsrly in the lower
ranking students is the inorease large. -
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In ability in méam_enféls as measured by Forms IIIandII
of thé Woody-wc(}alil Mixed .‘E‘undanientéla test adminiatered one xiwnth apart,
-] repatition or the aituation aa ahom by zhe Stevexxaon and Buokingham o
teats is found. FIGURE IV ahmm the distrwution or the scores on the
two teats. A aizrerence af the means of 1.227 with 9. ‘D of 3.44

' o dife.,
.'maicates a real gain 1n aehie‘vement aa . measured by these teats. B

‘I‘ABLE X

Gains end Loasea Shown by Fa:ms I and II of the Woody-McGall
Mixed Fundementals. Teat Adminiaterea ena’ Month Apart

Higger Same Lower “Av. Gain

'.'Upper 6-9@116 - e 0

2 L ? L *1.66
Upper quartile = = « « =« 5. 6 . 12 wled
.Uppal‘ao%muﬁnhﬂﬁ% 8 14 g «-.&l
 Middle BO% = = w = = = 38 & & o BeB4
Lower 50% « = « = = ~ = 40 2 4 3,37
: :LOWBX’ q,uﬁrtila - - w?:l: B B ¢ )
I.r.awer decila - wowmw =D 0 0 - 5.7
0 18 “1.48

‘ Eutiregroup«v--»-»«»m '1

Evary pupil in the lower decile inureaaed his scors, while
every pupil in the upper. daoile lowered hiaa A nmah atmnger tendency
to gein is shown in thelower quartile then to loae in the upper quartile,.
- The upper 50% show a slight averaée loss while the 1¢véer' 50% show a -

marked average gain.
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"The\ vriter is led to conelude ‘from this part of the investi~
gation that the period of intensive review and drill preceding the county
exaninations ‘mcreaseE ability to mke a highar score on the teats given.
Assuming the validity of the teata, the "oremming® period 1ncreases
' achievement. |

The weak pupil in p'a;“bivdular profits from the period,
while his stronger mssociste giﬁﬁnpsy mamzy} the th:gat of the impend~-
ing examinetion serves as a spur to both the pupil and ‘hi‘s teacher, .caus-
ing speoial effort to be mada to ‘bring this pupil wp !m ability to make a
passing mark. ‘ ' o ' e

At the seme tima the stronger pupils seem to take a rest, .
and by the time the review period is over, many show less ability to
score on en examination than at the bagi.xming, )

A much more satisfactory eduuationa}. aituation would have
been indigated had all pnpila made a gain in aohievement during the last
month, o , , :

V¥hich tend té meke the greater improvement, boys or girls?

The number and paroenta’ged oi’ boys end girls receiving
higher, identical and lower acores on two S.‘orms of the tests indicated

below, administered one month apart. are ahawn 1n TABI:EZ XI.



TABLE XI
The Number and Percentages of Boys and Girls Receiving ‘Higher, Lower

and Identical Scores on Two Forms of the Tests Indicated
: Below, Adminis;mred One Month Apart

BUCKINGHAM

Boys _Girls Both
Changes No. % Nos % No. % ‘

Higher = - = = 22 44 23 54,8 45 48,9
Same = - === 5 6 5 1.9 8 8.7
Lower ~ = = = =26~ 50. 14 53,3 3%  42.4

WOODY-MoCALL
Higher = - = = 37 -~ 74 27 64,3 64  69.6
Seme = -~ =~~~ 7 14 5 11,9 12 13
Lower » = « « « § 12 10 23.8 16 17.4
|  STEVENSON
Higher = = = = 36 72 20 69,1 85 70,7
Seme - - = == 7 14 5 11,9 12 1B
Lower ‘n - . e e ‘7 1& 8 190 15 16‘3

Totals B0 42 . o8

%
Buckinghem Boys = « «~Same or Lower -~ - ~ 5§
Highex'“""'“““"“
Girls « « Same or Lower « = ~ 52,8
~ Highey = = « = « « «54,8

Woody =« = ~ Boys « - -Bame or Lower -~ - <« 28
Highor = = = « = =« 74

Girls - = Some or Lower - « - B5,7

Highor « « = « « « «64,3

Stevenson ~ Boys = -~ Same or Lower -« « = 28
, Higher =« = = =« = « 72

Girls - = Same or Lower » = « 30.9

Higher « « = « -« - 63,1
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| The 1ghres 1n TABLE XI indicate that in problem solving
Iy, Tore EE i A B Lhs et L aeRLeRsEE WA boys. T
" fundsmental oporations, the boys! inoreass is more than that of the
girla, In tho increase shom in reading ability in Arithmetio, the
porcentags of boys and girls which shov & gain ls substantislly the
 porhaps the girls ars more stimlated by the threat of the

impending exanination than are the boys.
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CHAPTER VI
 Summery end Conelusions

This m#eatiga‘kion was aamie& on in 26 ruval end graded schools
of Pratt County, Kansas, in the spring of 1930. Ons bundred thres sighth
grade pupila participataﬂ in the etudy. ﬁata wore gathered by the adminia~
tration of two forms of the Woody-Mccan, Stevenson. and Buckingham Arith-
metic fest, The two forms were administered one month apg;t by the teachers
of the schools acabrding to instructions and direetibna provided by the
author. All tests were aaored by the writer end assistanta. All other
date were secured from the reaords oi' the Gounty Superintendent.

An mterpretation of the data leads the writer $o the follow-
ing conclusions, condidioned by the questions below. | !

a';._‘ igsA Pratt Gmmty a rep'resentatiw County? - ‘

6_., Is Arithmetic e representative subject?

o;. Are the aeriteria valid?

de Wes 'a_ aatiéfgdpdfy technique ﬁsadji:n the

interpretation of the data?

1. n » of ,208 + .063 indicates that dt_:imty Mnation
marks are pfaatically equal jso'chanae‘ es a vp::edictive,:measure of pupil
~ achievement, |
‘B¢ An 1 Of .435 1,054 indicates that teachers' marks are only
, a‘bouth% better than puxre ohancé ag a predictive measure of pupil
achievement., | R

3. An r of ,319 +£.,059 places the arithmétia average between

the county exemination end teachers' marks as measures of achievement.
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4. Teachers' marks are a better prediotive measure of pupil
- achievement than aré county exemination marks, 0 .
5. The miltiple correlation techniqueindicatea that &
~combination of county examination andteachers’markswillnoi: provide
& betbor predictive measure of pupll ach lovoment than the teachors® marks
‘alon‘e‘.. C e - ' ' '

6. No weight should be given the county fésuimmson.

7. Teachers 'ééﬂﬂéééﬁ%iiff”%ﬁd %o over-rate. their weaker

~ pupils, at the’ aame “time under-rating the a'&ronger.

'8, The period of raview results in a reliable gain for the

Er oD aE whcle. STRYRNRIOE Yo' AP I, S . ST v

"9, The peri.od oi‘ review helps weaker pupils to mke
o aubatani:iai gaina while thé Btronger pupils lose, 1

110, Therperiod of review aida girls 0 make greaﬁer gaine
“than boys in the ability to solve problems, The ‘boys! ‘gains exceed
those of the ‘girls' in fundamental operations, while the “g“;ms‘ of boya
- 'and girla are practically the sa.me in reading ability and’ 1n arithmetic.

ithe writer ‘declines to make any. blanket reoomndationa
from the results of this MWstigation. He does believe that the
findings indicate thaty

A 1, The county axamination system of Kansas should be

| 'maxea with the view of improving the validity, the reliahility pud qb-
| Jeativity of the examinations,

2, Toachers should have 1nstruotion ag to what teachers'
marks mean, and as to methods and techniques whereby marks may be more

acourately and justly assigned,



- 3+ If the period af intensive raview mat be used. pro-
visions should be made ror keeping the atronger pupil progressing as

well es aiding the weaker onea.“

)
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: - DIAGRAM III
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. DIAGRAY VII

 CORRELATION BETWEEN UPPER QUARTILE CRITERION AND TEACHERS' MARKS .
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Preliminary A_Lefb't‘e‘r to Teachers (copy)

Gulliaon, Kansaa,
February 27, 1930.

I am wri‘bing you to ask your aasiatanea in a atudy being
mads to serve as the basis of a ‘thesis for the Univeraity of Kansas,

T A attempt will be made’ to compara ‘the Validity of teachers'
marks. county examination grades, and an aversge of teachers' marks
and county examination grades as oriteria for the promotion or fail-

“ure of eighth gmaa pupils.. This study will be made in Axithmetic.

In no sense 1s this to ba an investigation of the teacher
or her methods} all that is desired is the record of the pupils. The
records of separate schools will not be disclosed, only the marks of
“all the eighth grade pupils in the county who teke the examinations,
taken as a group and not as individuals, However, I shall be glad to
furnish you the data regarding your owh pupile if you care to have it.

Briefly, here is what I ask you to do. Administer to your
eighth grade pupils three stendard Arithmetic tests sccording to direc-
tions which will be supplied. One set of tests is to be given about
- & month before the county exsminations] another set about two or three
' days ‘before the county exeminations. Retumrn the tests to me at onde. )
All directions, tests, pos’aage. eto., will be supplied. You need not
soore the tests. _ ’

If you will cooperate with me in this study, will you kindly
. £111 out the enclosed post-card and return it to me at onee? If you
‘do not feel that you aare to, Just write a big NO on 11; and return it
anyhoW. ‘ , ,

Howevar, I feel sure that as the expenditura to you in money
“will be nothing, end in time, very litile, you will be willing to take
part in this survey which has the approval of your County Superintend-
ent and the Sahool of Edncation of the University of Kensas.,

| Yours' truly,

MINTER E.- BROWN
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GENERAL INSTRUCTIONS

In order that this study shall measure the seme thing,
under the same conditions, at the same time, i1t will be necessary
that you adhere to the following directions as closely as possible.
These tests should be given on . and in the following
order: '

1. Woody=MeCall Mixed Fundementalé.
2. Buckingham Scale for Problems in Arithms'hia.
3. Stevenson Arithmetice Reading Teat,

I suggest that the Woody-McCall and Buckingham tests be
adninistered in the morning and the Stevenson test be given in the
afternoon, The Woody test could be given before the morning recess
and the Buckingham test after the recess. Your individual progrems
will determine at Just what time they are given, but under no circume
stances devieste from the ORDER of giving them, Follow the time
limites EXAOTLY, Do not split a test, that is, give & part of it be-
ffora recess and the rest after recess,

After the tests have beau administera&, place them, together
with the envelope in which they came, into the stamped, self-addressed
envelope supplied, end mail them to me et yomr earliest convenience.
If you would like to know the scores of your pupils, I shsll be glad
to furnish them, I‘nd;laate ‘bhis when you return the tests,

Another group of tests will be sent to ycu a few days be-
fore the county examinationa. The seme procedure will be followed.

: © I certainly appreciata your willlingness to cooperate in
this matter and I hope that the results of the investigation will be
of some value. By following the directions given, you may aid in
giving the study an accuracy that it otherwise would not have.
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Wocdy»Mccanw-wl. Clear desks, provide each pupil with & sharpened pen-
cil, and say, "One of these papers will be laid on your desk, face dawn,
leave it face down until I tell you to turn it."

2. Distribute the papers, Then say, "Turn the paper and write your
name and grade”, "Peneils up as soon as you finish",

3 Then say, "I want to SEE HOW WELL YOU CAN ADD, SUBTRACT,
MUL‘I'II‘:LY AND DIVIDE, READ WHAT IS SAID AT THE TOP AND BEGIN AT ONCE,
BEGIR", ' ‘

Give no help to the pupils and see that they get no help from
one mnother, At the end of EXACTLY 20 MINUTES call "STOP" and colleot
the papers. ' ' :

 Buokingham Soale. compieta directions are on the front of the test.
Follow them exaotly. Q.'we the pupils EXACTLY ONE HOUR AND FIFTEEN
MINUTES OF TIME,. o Sl e ;

smvmnson Problem Analys ig. ' ' o

1. Have eaoh pupil write his name and grade at the top af the
first page.’

2. Read the dix‘ectiona aloud and hav\a each pupil do the trial

test,
B After tho pnpila have finished the triai test and you are sure
they understand what to do, read almd the diradticms at the bottom
of the first page.
4, This is HOT e apeed test, 80 allow ampls time for all to
finish the test, :

IN ALL THE ABOVE TESTS, ANSWER WO QUESTIONS AFTER WORK HAS
STARTED, JEB THAT EACH PUPLL RECEIVES NO HELP FROM
‘ ANOTHER |

e



' NINE-MONTH TERMS

Friday, 'Ma_y 9, 1930

i

These questions are to be used only on the above date. The questlons for each day must be opened in the presence

of a majority of the examining committee.

An average of 80 per cent with no grade below 60 per cent is requlred for graduation. Grades of 80 per cent or v
more may be carried two years.

At the option of the county supermtendent credit may be glven on school work to the amount of 50 per cent in *

each subject.

The subjects for Saturday, May 11, will be, a. m ertmg, Umted States H1story, Spellmg, p.m. Grammar,

Agriculture.

The diploma examination for eight-month schools was held Apml 19 and 26, 1930

GEO. A. ALLEN, Jr.,

13-3444 State Supemntendem, of Publzc Instructwn
A M. P. M. ; ’ : |
Readmg and Classlcs e Civil Government ......... CIVIL GOVERNMENT
%}?t mletm ............... Geography ....... . . : .
. VSI0l0gY o\ i, (Frank La Plant.)

e

10.

11.

6.

. Write from memory one of the following:

. The bank discount at 6% on 35000 for 30 days is.
. Fill the blanks:

Kansas History ...

READING AND CLASSICS.
“(Mrs. Nettie H, Morss.)
FOR EIGHTH GRADE ONLY.

. What is a legend? Name one, and tell who wrote it.
. The Exghth Reader i is divided mto

called -

; 5
; and

. Who is your ideal of a good Amerlcan citizen? Name three

AmEi‘lcanS who are considered great men by the American
people

. Name two stories and poems studied this year which refer to

the World War. Give the authors.

. Who wrote the following selections?

(a) The Vision of Sir Launfal,
(b) Rip Van Winkle.

(e) A Fight with a Cannon.

(d) The Man Without a Country.
(e) A Christmas Carol.

. Number the names in column two to match the selectlons in

column one:
(1) Evangeline.

: ( ) Philip Nolan.
(2) Scaling a Waterfall.

( ) Theodore Rocsevelt.:

(3) The Man Who Overcame. ( ) Gabriel. .
(4) As You Like It. ( ) Lorna Doone.
(5) The Man Without a Country. () Rosalind.

. From what selections were the following quotations taken?

(a) “The Court decides, subject to the approval of the Presi-

dent, that _you never hear the name of the Umted States )

~again.”

(b) “The ship is anchored safe and sound its voyage closed
and done. From fearful trip the victor Shlp comes in with
object won.’

(¢) “And now abideth faith, hope, charlty, these three; but-

‘the greatest of these is charxty
) “If I could work my will, every idiot who goes about with

Merry Christmas’ on his lips should be boiled with his |

l<:wn Ig}xddxng and buried with a stake of holly through his
. eart.
(e) “Master of human destinies, am I! 5
Fame, love, and fortune on my footsteps wait.
Cities and fields I walk.”

. Draw a line under the word that makes these sentences true:

(a) Last Bull wheeled, pawed the sod, put his muazzle to the
lground and bellowed a (Sonorous beautiful sweet) chal-
enge

(b) The grizzly bear is of a grayish color, very large and
(wild ferocious timid friendly).

(¢) A loon is a (flower small animal diving bu‘d)

(d) (Evangeline- Rip Van Winkle The Vision of Sir Launfal)
has been called the most beautiful of American legends.

“The Gettysburg Ad-

‘dress,” or not leSs than twenty lines from “Evangehne or
“TO day ”

Name two of the Reading Circle books which you have read.- thls

year. Write a review of one, and be sure to name the author.

What is the purpose of the Audubon Society? Name three of

the farmer’s best bird friends. (This question is taken from
the seventh reader.
first ten.)

ARITHMETIC.
(Ray D. Hodgell.)
FOR EIGHTH GRADE ONLY.

. How much will a customer have to pay in cash for each of the

following:
(a) Regular price $24 less 3% for cash?
(b) Regular price 375 less 5% for cash?
(¢) Regular price $27.60 less 2% % for cash?

. The list price is $4800, and there are two successwe discounts of _

- 37%% and 12%%. Find the net price.

Frank was offered $10 per week and 5% of hig sales. How much
will his sales have to be in order to make his complete sala.ry
$30 per week?

(a) The profits paid to stockholders are called
~(b) $35is % of $20.
(c) 250% of 40 cents equals
(d) 20% less than equals 40.
(e) 40 equals % of 50.
If the school tax in District No. 76 is 15 mills, how much school
tax must a man pay whose property is assessed at $6,0007

cents.

——7— (@)~ Tfilled-my coat-bin-%4fult-ut—acostof -$14!

8.
9.
10.

" (b) A equals:

1.

g 1

the season it is still 75 full. What did the used coal cost
me?

"(b) Last year a man drove 18.6 ‘mi. per gallon of gasolme in his
car. This year he is getting but 16.2 mi. per gallon. How
-much further would 80 gal. have carried him last year than
this year?

(a) Find in rods the diagonal of a section of land.

(b) How wide a strip 40 rods long will contain 3 acres?’

A steam pipe is 20 ft. long and 4 inches in dxameter How much

_heating surface does it have?

Fill the blanks:

(@) The volume of a pyramid is but
a prism of the same dimensions.

72, (Pertains to circles.)

(¢) The square on the hypotenuse of any right triangle is equal
to the of the squares on the other two

(d) A trapezoid is a figure of straight sides only of
which are parallel.

(e) A mile equals
feet.

as great as of

rods, equals yards, equals

PHYSIOLOGY.
(Geo. L. McClenny.)
FOR SEVENTH GRADE.

Name the parts of the eye.

‘Discuss the proper care of the eye.

What first-aid treatment should you use for burns?
Name three uses of the teeth.

What causes a tooth to decay?

. Trace the circulation of the blood through the body, starting

with the left auricle.
Why is ventilation so important to health?

- How would you ventilate a schoolroom?

. Place a plus sign before each true statement and a minus sign

before each false statement:

(@) Tea and coffee do not nourish the body

(b) The person who uses alcohol has greater endurance and more
resistance to disease than one who does not use it.

(¢) The scholarship standing of pupils who smoke is higher than !

that of those who do not smoke.
(d) The villi are located in the stomach.
(e) The blood carries oxygen and food.to all parts of the body.

- 7. Answer each of the following questions with a single word:
" " (a) What is the name of the tiny blood vessels whlch connect
the arteries and the veins?
(b) What food builds and repairs tissues? ——
(¢) What is the name of the sclence which teaches us how to
care for the body?
8. Select the correct words in the followmg statements. Write the

10.

statements as corrected:

(a) Smallpox may be prevented through treatment by (anti-
toxin, radiation, vaccination, transfusion).

(b) Bacteria are (plants, animals, organisms, insects) that may
aid or injure mankind.

(c) The tooth is covered with a hard, shiny substance called
(dentine, periosteum, enamel, epldenms) :

. Fill in the blanks with correct words:

(a) Headache medicines weaken the

(b) Alcohol dulls the and weakens the

(¢) Keep the body clean by once each ———.

(d) The nervous system consists of the , , and

(e) The divisions of the skeleton are the , , and

Complete the statements in column 1 by using the proper wotds
found in column II:

L . 1L
(a) Pure foods and meats are pro- yellow fever
tected malnly through ..
(b) Disease is commonly pre- quinine.
" vented by ,
(¢) Malaria_ 1s commonly treated o
vaccination.

by usin
(d) Extermmatxon of the mos-
quito is necessary to con-
trol
(¢) The best way to swat the fly
1is to destroy the ———

breeding places.

inspection.

main parts.n_’Ihey'are )

_ Tt may be substituted for any one of the

(b) Prove the statement that “Our town cannot be prosperous .

(a) Name the™s steprleadlng~up~to,the adopﬁon of the Federal

" (b) The

10.

11.

12.

5.

6.

. (a) Name four state elective offices.

FOR EIGHTH GRADE ONLY.

Answer any five of the first six questions,

; (a) Name three city problems we have solved that old cltxes did

not need to solve,

‘unless the surrounding country is.”

.. (@) What is meant by calling this a “city age”?

(b) What is a “Congressional Township”?

Constitution.

(b) What great fundamental basxs of unicn exxsted in the coIomes Bt

from the beginning?

Name resent ofﬁcet for-
two of them. P : e

(b) Name the two U. S. senators from Kansas

.-What is the direet primary? What is its purpose? lee one

argument for and one against its use.

(a) Give at least three rules that should be ohserved with refer-
ence to our national flag.

(b) Name your state senator and state representatwe

Answer any five of the remaining six questions.
(a) The three fundamental causes of clty growth are:
- 3.

b) Tl{ree forms 02f direct taxes are:
. 5 . 3.

(a) Cities are classified by the United States Census Bureau
. according to their .
(b) Six county offices are: 1.
4. - .. = . 6.\

2. ' 3._

in English history known as the
amendment of U. S. Constitution gave to women
the right to vote.

Underlive the correct word.

(a) The (judicial, Ieglslatwe, executive) department of our gov-

. ernment makes the laws.
(b) A special kind of tax that is levied upon property at the

death of the owner, and is paid by the heirs is (mcome,

personal, inheritance) tax.
Underline True or False.

(a) The next primary election in Kansas will be held in Au-

gust, 1930. (True, false.)
(b) The president. of the Umted States w111 be elected next fall.
(True, false.)

(a) Using the native fertllxty of the soil without restormg any-

thing to it which will keep it productive is called exploit-

«ing the soil. (True, false.)
(b) Areas not separated are called “contiguous territory.” (’I‘rue,
false.) .
GEOGRAPHY.

(Mrs. Deane M. Hm't)
FOR SEVENTH GRADE

Copy these statements, and underscore the correct terms: -

The United Kingdom has extensive (cotton growing gold mining
manufacturing) industries.

(Czechoslovakia Germany Switzerland) is a country that was
formed after the World War. .

The (Tundras Everglades) are treeless plains.

. Constantinople is a seaport in the (Bosporus Dardanelles - Gi-

braltar Straits).

AEgypt and Mesopotamia are ruled by the (Freneh Enghsh

Turks).
Johannesburg is noted or its (gold w1ld animals dlamonds)

Write true as the answer to statements which are true; write false as

the answer to statements which are false.

Copy the statements

Afirst:

7.
8.

9.
10.
11.

Asia is the smallest contment ! ;
Dry - farmmg means growing crops Whrch do not require Water

The race of people in China and Japan is Mongolian.
Madagascar is an island near South America.
The Indus and Ganges rivers are in China.

12-15. Match the first column with the second column:

16.

18

19. Four important seaports of the United States are

(1) Palm Beach. ( ) diamonds.

(a) We trace all of our llbertles back to one great group of laws

.

)‘Bmﬁem . 9 { ) dCD‘:AD
-(3) Kimberley. ( ) wheat. )
(4) Sahara. ( ) carpets N
(5) Rhine. ( ) island
(6) Russia. () great evergreen forest
(7) Monsoon. - () river.
(8) Fiji. ( ) summer resort.
(9) Taiga. ( ) fertilizer.

(10) Nitrate. ( ) wind.

Copy the following statements, then fill the blanks with the
correct word or words:

has more population than any other continent.
. The is known as the ship of the desert.
Four important exports of Europe are y y ,

y

20. The Phxhppme Islands export 3
21-22. Tell where the Suez Canal is and of what help it has been to

civilization.

23-25. Match the following cities with tl(le;r éﬁ;mtnes

LI

o

10.

- (¢) The State Capitol is at

. Name two leading modes

(1) Cairo.

(2) Athens. () Straits Settlements.
(3) Canton. ( ) Greece.
(4) Singapore. () Egypt.
(5) Havana. ( ) Cuba.
( ) Germany.

(6) Berlin.

KANSAS HISTORY.
(Wm. A. Sailors.)
FOR SEVENTH AND EIGHTH GRADES.

- Compare Coronado s opmlon of Kansas with Pike’s opinion of it.

Name two early missionaries and two missions founded Locate.

‘“What tnbe of Indians was known as ‘thé Quiviras? ~

Fill the blanks with the proper answer:
(a) The first state governor of Kansas was
(b) The constitution was adopted

How did the Kansas-Nebraska bxll affect Kansas? - Explain.

hat were or are the following: John Brown; Pawnee; -
W?Jl)y?lzdl\/‘lv laieed Geo. A. Allen, Jr.; Charles Curtis?

Match the words in the first column with the dates in second

column:
Panic, 1803 .
Wyandobte Constxtuhon, 1854
Louisiana Purchase, 1861
Kansas becomes a territory, llggg

Kansas becomes a state,

he
Draw a map of Kansas locating two rivers, the state capltol t
state schc?ol nearest your home, one. oil center, and one dau'y

center.
of transporting products from Kansas.

How did the discovery of gold in California affect Kansas?



T NINE-MONTH TERMS

Saturday, May 10, 1930 |

These questions are to be used only on the above date. The questions for each day must be opened‘in the presenée

of a majority of the examining committee. -

An average of 80 per cent with no grade below 60 per cent is required for graduation. Grades of 80 p’err cent or

more may be carried two years.

At the option of the county superintendent, credit' may be given on school work to the amount of 50 per cént in

each subject. :

The subjeéts for Friday, May 10, were, a.m., Reading, Arithmetic, Physiology , p.'m., Civies, Geography, Kansas

History. - :

The diploma e,xaminatioﬁ for eight-month schools was held Apfil 19 and 26, 1930. :

GEO. A. ALLEN, Jr,,

} 13-.3444 State Superintendent of Public Instruction.
A M. P, M. . : A
SWriting ...oiiiiiiiiiiiien ’ GIammar «:eoe.eqveernees OUR ENGLISH.
United States History ..... Agriculture .......c.e.eeun 3 :
SPEIlNg +ovveerseensenaees - . s (Alta’S. Hepler.)
. v i FOR EIGHTH GRADE'ONLY. | :
WRI I ! g 1. Write a paragraph expanding one of the following ideas:- I like
TING to see a cherry tree in bloom (describe how it looks). The
(L. H. Hausam.) wind Played havoe on our street (tell in detail what it did).
- o o ot ‘ . One night I thought I saw a ghost (tell the story).
e quality of writing is to count for 50% and the answers to the 2, Classify the following sentences according to form and according .~

theory questions for 56%. ‘

1. Make the two-spaced oval across the page; and the two-spaced

push-pull drill across the page.

2. Make the capitals on two lines in their proper groups (OCEA

NMHK QZXW VUY TFD PBR- SGL 1J).

3. Write the numerals three times on one line.

4,

Write the following sentence: This is my best arm-movement
writing upon completing book eight in the Kansas Practical
' Writing Course. - :

5. What often makes the lines too heavy in practicing penmanshiﬁ?
6. Adswer the following questions with either yes or no:

7.

8.

9.

10.

‘1.

2.
3.

i 4,
5.

6.

7

-

9.

(¢)  Henry Clay was called L , 1 ’
(d) Thel?;utho?; of the Declaration of Independence was ~ the first column: :
¢) The author of the Emancipation Proclamation was (1) mistletoe. () bird.
( . .
* ' ' 2) tubgrculosis. ( ) flowering parasite.
Underscore the correct words in the following:. . _‘(i) %ualtl- E ; oats.
(a) Oh Captain! My Captain! is.a poem written about (Grant (4) trac oL, ) £ ' whont
: Lincoln - John Brown Jefferson Davis). 8 (g) por_'n.t'on Y ) e .
(b)- W. J. Bryan advocated (gold standard free coinage of silver 27; ;r(;rillga ion.. {2 020, -
' at the ratio of 16 to 1). - , i, e :
; i ; 8) Kanota. () head of water.
@ (Fraé.rtlfzﬁ England The\ Wit Btetes) built t;he Baszma 59) bin-burnt. ( ) contagious disease. .
“ (d) John J. .Pershing was an (author banker. American general (10) tillering. ' ( ) erosion, ~
aviator senator). L. 3 2. Name five kinds of wheat. Which kinds are grown in your com-
(e) The United States acquired Louisiana in (1819 1812 1803 munity? } ;
1861 1845). ) K - lete fact ' 3. Define legumes, and name four legumes.
i k i ) : ; .
%MM%@%&%@%eentftxf“egﬁufaﬁn"ai na 4. Define: nodules*ﬂaed,.subsmlkmugufkand,ﬁlm water.
‘ tions from gaining colonies or possessions in Central or 5. What is contour plowing, and why is it done? S :
(b) TS: uth Amerlea- provided for National Prohibition. 6. W;JOO mi:tﬁlilnegsaeggit:rﬁfi ngf Agriculture of the United States? Tell
tured Harper’s Ferry. o ~ ' ;
ég)) ' ‘s’:g $§ first p’?eSident of the Woman'’s Christian 7. Name five vegetables which need transplanting. Why?
Tempeause Tnieh, _ ‘ 7 v : home be made attractive with flow
(e) Gettys\l))urg was a decisive battle of the —_— 8. Why ilg?llljlgn?’lit%‘;m ome lo attrac wi Overs"
1(VI§uk as either '(I;E;faogeﬁﬂ;: :to the United. States. 9. Name five harmful and five helpful birds seen in K,ansas' .
(g) ¢ ) Stephen A. Douglas was the author of the Kan- '10. Name one or two highways which pass through your county. Of -
' ’ ‘sas-Nebraska Bill. e what benefit are gravel or paved roads to a community?
(¢) (——) The Underground Railroad was an organization , : ‘
that helped the negroes escape from their mas-.
ters. . .
illi 1900.
(d) (——) William J. Bryan was elected president in
(¢) (——) The Kansas-Nebraska Bill caused Kansas to be
settled rapidly. . f i
(f) (———) Tariff prevents our manufacturers from exporting
oods.
@ —) T}%e Homestead Laws hindered f.he settlement of
the West. :
by (—) Clari. Barton was one of the early leaders of the S
d Cross Movement.
@) (—) Tlﬁeboug:iary line between the slave states and
““free states was called the Mason and Dixon
' line.. | :
@ ¢ ) U.S. Grant was a Southern General.

10. Match the names in the first

w

3

4

[}

(a) Should the hand and wrist rest on the desk while writing?

b) Should the penholder point outside the elbow of the writing

arm?
(¢) Should the first joint of the first finger of the writing hand
be bent down while writing?
(d) Should both arms rest on the desk while writing?
(e) Shpul;l the weight of the hand rest on the pen while writ-
ing .

Write this sentence: All who try right learn to write right, and
answer the following questions concerning it:

(@) Which of the small letters are as high as the capital A?

(b) Which of the small letters are as high as the small w?

~ (¢) Which of the small letters have only straight down strokes?
" (dy Which of the small letters have both straight and curved = "~

down strokes?
(¢) Which of the small letters have only curved down strokes?

" (d) Make a capital I and a capital J, and indicate with a small
‘ arrow where each begins.

(b) Do the upper loops in capitals I and J have the same slant
as the upper loops in 8, G, and L?

(¢) Which capitals in groups 7 and 8 should be connected to the
small letters in writing words commencing with these capi-
tals? : gk

(@) Does your teacher show you how to use the arm movement
and how to make the drills and letters with the arm move-

ment? , . . ‘
(b). Does your teacher explain’the -details of letters before you

practice them?
. Write your own name and address five times.

" UNITED STATES HISTORY..
(Mis. Effie Wilkins.)

FOR EIGHTH GRADE ONLY.

Define any five  of the following terms as used in our histbry:
" Spoils System; Nullification; Emancipation Proclamation;

Freedmen; Melting Pot; Constitutional Amendment; Re- .

. striction of Immigration. : :

California was acquired from Mexico in 1848, and became a stat
in 1850. Give the reason for these early dates.

Name in order the persons who have served as president of the A

United States since the Civil War. : L
Why did the United States enter the World War?

Write ‘from fifty - to seventy-five words about the “Industrial

Revolution.”

Complete with one word or name: ]
(a) The Old Man Eloquent was .

(b) 0ld Hickory was a name given to

to use: %
(1) We built a shack in the woods near grandfather’s house.

" (2) Have you heard about the little coral animals and their great

islands in the sea? - :
(3) Look at the pilot! . ’
(4) Mary’s work is finished, but yours has just begun.

(5) The two boys who won the honors were cheered when they"

passed us.

3-4. Diagram the fifth sentence of question 2.

5.

(a) Wfrite the following sentences, choosing the correct. verb
orm: :
(1) We are sure the ball was deliberate
through the window.
(2) When were you (spoke, spoken). to about this matter?
(3) Why isn’t this work (did, done) by the children?
(4). A path through the woods has been (wore, worn) by the
children.
(5) Permission to camp there was (give, gave, given) to us
by the owner. :
(b) Give the tense, person, number, mood, and voice of each of
the verbs in sentences 1 and 2. . : )

() List the adjectives, predicate adjectives, and adverbs in the
: following sentences: o )
(1) His brave act was cheered by interested spectators.
(2) How bright the stars are! :
(3) Heavy thunder immediately followed the lightning.

ly (threw, thrown)

_..(b). Write..the_.comparison .of all adjectives and.adverbs.in the . ...

above sentences.

(a) Write the following sentences correctly, using the correct
_ preposition. Give the reason for your choice:
(1) We went (in, into) the museum and looked 4t the curios
(in, into) the cases.
(2) There is no choice (among, between) these two roads.

(a) Name the five parts of a friendly letter. Tllustrate.

(b) You have heard that the Monarch Grocery Company, 1234

TFrankfort Avenue, Louisville, Ky., is about to expand its

business. Write a letter of application for a. position in

one of its new departments.

9-10. Write “true” before those that are correct, and “félse” before -

(a) A sentence is a group of words expressing a com-
> plete thought. : . .
) (—) Averbisa word used to tell or assert something.
‘(¢) (——) A conjunction is a word used in place of a noun.
(d) (——) When the verb is used to express a command, a .
request, or an entreaty, it is in the subjunctive
. mood. B : 5,
(e) (——) A-gerund is a verb form which is used partly as
) an adjective and partly as a verb. . .
(f) (———) A possessive adjective should agree with its ante-
cedent in person, number, and gender.
() (—) A participle is a verb form, ending in ing, that
' partakes of the nature of a noun. . =~ :
(h) (——) A subordinate conjunction is one that joins a
[ subordinate clause to a principal clause.
" (3) (——) A noun or apronoun used as the direct object of
: N a verb is in the dative case..
(j) (~——) A pronoun is a word used to name a person, place,
or thing. X
- AGRICULTURE.

those that are incorrect:

L (P.W. Kirkpatrick.) (
FOR EIGHTH GRADE ONLY.

.‘ Number the terms in the second column to match the names in

column with the correct terms in

the second column:
(a) Pennsylvania.
(b) Eli Whitney.

(¢) De Soto.

(d) Horace Mann. (
(¢) Daniel Boone. (
(/). Thomas Jefferson. (

(g) Jamestown. %

(
(

() early education.
( ) Purchase h;)ffLoulsxana.
ndian chief. )

¢ ; }3attle Hymn of the Republic.
) Revolutionary War. - :
) first settlement 10 Virgina.
). settled by ngkferg. =

(h) Julia Ward Howe. ) discovered Mississippi river.

(?) Pontiac. )

(7> Washington. )

pioneer of Kentucky.
invented cotton gin.

- SPELLING.
‘ (Agnes L. Praeger.)
"FOR EIGHTH GRADE ONLY.

. Write the plurals of the following: solo, body, survey, delivery,

“process, locality, tariff, senior, column, negro.

. Use these words correctly in sentences: clause, we've, effects,

weights, counsel, wears, sole, crepe, vary, affected.

. Write the singular ‘of these words in sentences: families, mem-
ories, errors, curiosities, freshmen. -

. Add “ed” and “ing” to these words: step, rule, occur, submit,
transfer. :

. Give the five steps or directions given by the authors of our
new speller on how to learn to spell a word.

Allow 50% for the question below:

6-10. Spell correctly when examiner pronounces:

humor receiver - statistics
angels specialty - affidavit
shouldn’t alliance necessitate
foresee partially psychology
accepted literally . mortgage
bureau acquainted illustrious
all right parcel post . facilitate
kimono amiable

acoused -proceeding -



WOODY- MCCALL MIXED FUNDAMEN TALS FORM III

Name...

C@ty i

Get the right answer to as many examples as you can in 20 mmutes Do all work on the front

or back of this sheet.

(¢)) () (3) (4) , (7) (8)
Add . ! ) SubtraCt g Multiply Subtract - Add ‘
2 6 X 2 = 2)4 31 15. 15
4 ‘ ‘ 2 -9 4
(10) (11) (12) - (13) (14) - (15) (16) an
Multiply ‘ ‘Add Subtract o Add Multiply '
257 6+2= 12 493 2)15 19 4097 3% — 1 =
-5 13 167 . 7 _____§
T . 29 T 19
"‘ 34
88
(19) '(20) 21) (22) (23) 24) 25y
Multiply ) ‘ - Add ~ Multiply Subtract Add
7889 15 of 129 = 486 - 397 195 =— 7 = 38 5.099 -
9 765 .05 1534 2.710
B 524 e L 6.102
140 - 3.62
812 '
466
355
834 !
567
27 '(28) (29) - (30) (31)
Add Multiply :
56 of 576 = .39 s X 3 = 7893 e +— 6 =
: 27 26
12 T
.85
(33) - 1.59
: 11
9) 581b. 8 oz. 44
2 02
.66 B
N
o7 (35
76 ‘ ' S
1.10 24.081 + 200.6 + 28 + 97.29 + 18.3515 —
19 : ' :
.65

'(5)

(6)

54+ 1=

PUBLISHED BY

9
Subtract

17
8

(18)
~Add

 $13.95

16.50
17.75

6
xylulti,sly
5839
85

9.5 — 5.00073 —

(34)
’ Mﬁltipjy
.089314
084

TEACHERS COLLEGE, COLUMBIA UNIVERSITY
COPYRIGHT, 1923, BY TEACHERS COLLEGE
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©" Chart of Correct Answers "

BLOOMINGTON, ILL.- + . Problem j— Q‘;fs “33“-.5 B aoal il ri
TESTH e
{?} ARITHMETIC READING TEST 5
e """ (Problem Analysis) "~ ' 5
B e By P.R.STEVENSON [
p . Totall :

Put a check in each space under A-B-Cand D
for a correct answer to the questlon =
i Maxlmum score 21 v

Glade [» : Date AN
‘ amé of Teacher:‘“ “’ ‘”" L ) T ""‘:‘Clt}” P o

‘ : " 'DIRECTIONS ' Sl '
= Look at the problem below Read it carefully, then read the part '
skaded A. Four answers are given to the question, “Which of the: followmg
AActs are given in the problem?” Only one of the answers is correct. Find
‘he correct answer. If more than one answer ‘seems correct; select the best
-ne.. " The correct answer:is. number 1, “The different. amounts,depomted M
rite the “1” in the parentheses fo the left of the. questlon s ,
Now read question B and its four answers.  Which is the correct ‘answer?
Vrite the number “3” just to the left of question B. Read question “C.”
[stimate the best answer and write its namber just to the left of the question.

a questlon D ﬁnd the correct answer-and write its number in the parentheses i
Ao . _TRIAL TEST dtbeiil

| On May Sth Ahce deposited $0.50 in the school bank on the 10th she
‘eposited $1.50; ion the 15th, she pit in $0.50; and on the 20th she- depos1ted :
#1.00.. How much did she deposu altogether durmg May?

4 .) A. WHICH OF THE FOLLOVVING PACTS ARE GIVEN IN THE £
U PROBLEM? i
1. "The d1fferent amounts dep051ted
' 2. The total amount deposited. .
3. "The interest’ paid by the bank. -
¢ o 4,7 The time-when money was withdrawn. b
) B WHICH OF THE FOLLOWING THINGS ARE YOU ASKED
.~ TO FIND OUT IN - THE PROBLEM?:.
1. The profit gained on. the deposits. ..
2. The number of times:that she deposxted money

3, The total:amount deposited. . Sl e T
4. The amount of each deposit. i
)y C. ‘WHICH-OF" THE FOLLOWING IS THE MOST REASON—J

ABLE ANSWER? 5

1 2
$22 OO ~$15.50 $l OO $3 50
) D WHICH PROCESS SHOULD BE USED IN SOLVING THE
PROBLEM? R ‘

Fo Addmon Subtractxon ,' Mult1phcat1on i D1v151on P |
On the followmg pages there are a number of exercises 51m11ar to these
Vork as rapldly as p0551b1e but be sure to get the answer, nght
Remember:
wooooo Find the correct; or. best answer to each: questxon TSR L
d ‘Write its number in the parentheses to the left of the questlon R
¢ " When you have finished the problems on one page, go on to the next page

ithout stopping until you have finished all the pages or are told to stop. If .
‘j.ou do not know the answer to a quest1on go on to the next. . 228-4p

‘ame of Pupil

Jame Of SchOOL...osivtoiom i

1 Bk




L The puplls in the Irvmg School agrced towmake 675 badges for the!

" school field meet.  The day before the-meet the third grade turned in 20!
" the fourth grade, 40;. the fifth, 70; the sixth, 130; the seventh 160; and the?
~e1ghth 200 -How many badges were tumed in?2 - i :

‘( ) A WHICH OF THE FOLLOWING FACTS A E GIVEN IN THE
i "PROBLEM?." . R e e

1.. The cost of the materials.

2: .The number of badges each grade made. ;
3. The time neccessary to make the badges.

-74:* The number of badges each grade should have made

(-+) B. WHICH OF THE FOLLOWING THINGS ARE'YOU ASKED"
TO FIND OUT IN THE PROBLEM?

1..The total number of badgcs promlscd
2. . The number of pupils who worked..
3 The total number-of badges made. .
4 :How many teachers helped. .

(%) C.'WHICH OF THE FOLLOWING IS TI—IL MOST REASO
ABLE ANSWER? A X A i
TR, 1 “2"9‘”3'} ¢«~,4«';, vy i

1k
2]

250 410 750 620 ,

‘ ( ) D, WHICH: PROCESS - SIIOULD BE USED IN SOLVING TH
PROBLEM? T

CLy et T i

ael - 41
. ;Addltton Subtractlon

ultiplicatio D1v1sxon

IL A speculator bought a farm of 360 acres on the edsre of town ' fo :
$72 000.00. After kecping it for two months, he sold it to a. development:
company to be cut up into small farms and city lots. , The company paid h1m
$90,000.00 for the whole farm. How much did he gam by the deal? .

() A. WHICH OF THE FOLLOVVING I‘ACTS ARE GIVEN IN TH
Lot/ PROBLEM?: it i
1.  The selling pr1ce for each cxty lot i
2. The number of small farms and lots formed;":
3. The selling price of the whole farm ! i
4. The amount gained in the deal

() B.WHICH OF THE I*OLLOW ING TT—IIN(:S ARE YOU ASKE

"é ARSI
&, Ll

’lO FIND OUT IN THE PROBLEMP
1. The purchase price.
2.  The name of the company. R SIS
- 3. . The size of the farm. .+ vy 2o . Pl :
4 The amount gained.- " TYAA

¥ ) C. \VHICH OF THE TOLLOWIN(: IS THE MOST REASON
ABLE ANSW’ER? , . CT e

P e

i1 i i wing gl a 4 ;
: $360, OOO 00 * ' $10,000. 00" $18 000.00 $90 000. OO ‘
) D WHICH PROCESS SHOULD BE USED IN SOLVING ’lH
‘ PROBLEM? at : g
N SRt AR LI N ;:,.:* S SR AR
Addmon " Subtyacticjn * * Multiplication - Division =



: III Dxck made’ 50 toy boats He sold 24 of them-at 30 eents each 10
at 25 cents each, 6 .at 20 cents; and the rest at 15 ccnts each. How much did~

he receive:for those he sold at 30 cents? iranl oo b iy G sl mmead,
(i)Y AN WHICH OF THE FOLLOWING FACTS ARE GIVEN IN TI—IEt
- PROBLEM? :

1. The number he sold at 30 cents each _
2." The amount he received. for all the boats
3. .The cost of the materials.; /iy o

4. The number of boats sold at 50 cents each s

(:0)IBl WHICI—I OF THE FOLLOWING THINGS ARIZ YOU ASKED)
-~ TO FIND OUT IN THE PROBLEM? : ~
1. The amount received for all thé boats.
2. The material used in making the boats.
- 3. The number of people who bought boats
4. The amount received for the 30—cent boats

() C. WHICH OF THE FOLLOWING IS THE IOST REASON_
-0 ABLEANSWER?. T '
t b2 el 4
(1 T’)”Df’WHICH PROCESS SHOULD YOU USE
~ PROBLEM? ’

Addltibﬁ" 5 Subti‘actioﬁ Multlphcatlon*ﬂ tDivxsi‘oxi)"

IV From Cmcmnatl, 0h1o to Cleveland Ohxo by way “of Columbus is.
262 m11es A train 1eav1ng Cleveland at 4:50 will be in- Columbus at 7:50 and.’

in Cmcmna'u at'11 :00." ‘If it is'140 m1les from Cleveland to Columbus, how far -
1s it from C1nc1nnat1 to Columbus? =

( ) A "WHICH OF THE FOLLOWING FACTS ARE GIVEN IN THE
"PROBLEM?
1. The dlstance from Cmcmnatl to Columbus
2. The distance from Cincinnati to Clevéland.
= 3.. The cost of a ticket from Cleveland to Columbus
4, The number of hours 1t takes to. make the trlp

(. ) B. WHICH OF THE. FOLLOWING THINGS ARE Y DU
" TO FIND OUT IN THE PROBLEM? . |

- 1. The time needed to go from Cleveland to Columbus
2. The dlstance from Cleveland to Cmcmnatl

,,,,,,

4 The distance from. Columbus. to Cmcmnatl o E

3,

(i ) C. ' WHICH OF THE FOLLOWI\TG IS THE MOST REASON—
w0 ABLE ANSWER? ; ST

S BT e S I ‘4* SR
120 200 402 95 AR RE e v
( ) D, WHICH PROCESS SHOULD BE USED IN SOLVING THE
’ PROBLEM?
2 : KRS 4

Addition - Subtraction: !’ Multiplicatioﬁ. Division.



5y V Mrs Jones spent 13 ‘hours makmg a dress The ‘3 yards of goods usedf
- cost $2.75 per yard and the trimmings, buttons,. and thread cost $4.25. . If Mrs.
: ,Jones t1me is worth 40 cents an hour, what did the work on the dress:cost?

( ) Al WHICH OF THE: FOLLOWING FACTS ARE GIVEN IN TI-IE'

P PROBLEM?. . e

© 1. ‘The time spent on-the work. Bieon

2. The cost of the work on the dress i

3. How many spools of thread were: used
4. What the trlmmmgs cost.- St

(:3):B. WHICH OF THE FOLLOWING THINGS ARE YOU ASKED
.~ TOFIND OUT IN THE PROBLEM? | " /iy i1
1. The length of the dress e e Ty
. 2. The cost of the.work. . i ol
3. The time.spent on the work D TR e
4. The: total cost of the dress b tinh i

) C,.;;’WHICH OF THE FOLLOWING 1S THE MOST REASO
\ " ABLE ANSWER? e

.

1 2 3 4
$7.60 $1225  $21.50 §520,

() D. WHICH PROCESS SHOULD BE. USI:D N SOLVING THE
L ‘PROBLEM? |

2 ER o
,Ad!ditiorr S.,ub\tractiOnﬂ,? . Multiplifcat(iOn - Division

VI Mr. Brown’s bill at the restaurant was larger than he expected so
he checked ‘over the items. He had had soup at 15 cents, a steak at 50 cents,
French fried. potatoes, 25 cents; .bread and butter, 10 cents; ‘pie ala-mode, 25
cents; coffee, 10 cents; and a c1gar at 15 cents. How much should hxs meal
have cost him if he trpped the waiter a quarter?

( ) Al WHICH OF THL FOLLOWING FACTS ARE GIVEN IN THE
- PROBLEM?

1. The total b111

2. The amotnt of’ food served S

3. How much time he spent at the table

4. The cost of the items of food.

(%) B: WHICH OF THE FOLLOWING THINGS ARE YOU ASKED";»Q
© TO FIND OUT IN THE PROBLEM? R

1. ' The amount of the tip." :
- 2. The total cost of the meal S
3."How much the steak cost.”) ¢ ' f o Lo s o
: -4, The number of items on the bill; ueeta v o
(+¢).C. WHICH"OF | THE FOLLOWING IS THE MOS’I REASON- ;
- ABLE ANSW‘ER? , ‘ 5
2 3 4
L $300 $1.15 $1 75 $2. 50 K L
(:::) D..-WHICH PROCESS SHOULD BE USED IN SOLVING THEe;;Z
ot PROBLEM? ‘ 1

bt

\_) S L j,<;

. 20 3 4
Addition Subtraction :” Multiplication = Division.
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Dlrectlons it

w'f s

: commumcatlon and to secure 1ndependent work.

Spec1al precautlons should be taken throughout the test to prevent

Distribute the papers face up and. tell the chlldren not to turn them '

V iover or open them. ' Distribute no other paper.

Have the children fill in the data called for on the ﬁrst page A551st :

‘ :them if necessary. -Then read the followmg, lettlng the chlldren read
- silently from their own copies.

“On the inside of this folder you W1ll ﬁnd some. problems in arlth-"f;v" a

metic. The first one is the easiest, the néxt is a little harder, and so on

to the last which is the hardest. When 1 tell you to begin, turn the page 5

~-and try the first problem. You may do as much of your work as'you

~wish ‘in your head’ but do all your ertten work in the space under the ;

_problem without using any other paper. Then copy your answer in the
square where it says ‘ANSWER. If the answer is in money, don’t

forget the dollar sign and decimal point. After you have tried the first

; problem, try the second, then the third, and so on. = Be sure to. try them

~in the.order in:which they are prmted Do not sklp around. - If you .
- omit a problem, I shall think you have tried it and could not solve 1t :

Do not hurry. - You will have plenty of time. Begm

" Children ‘should have all the time they can usefully employ, ; but it -
‘is suggested that not more than an hour and a quarter be devoted to the
 work. ‘At the end of’the exercise; tell the children to look over their

work and be sure that they have (1) tried the problems in regular order,
(2) copied their answers in the proper place, (3) put in the ‘dollar sign
and decimal point when an-answer is in money. Collect the papers.

Children who solve none of the problems should be given the next

- lower division of'the scale ! Othexw1se no. valld score for such puprls'

«can be obtamed



. Value

1 A man bought a house for $7250 After

spending '$321.50 for repairs, he sold it for
: $9125‘ How much d1d he gam? ‘

. ANSWER

L qen

2 How many Weeks Wlll it take Joseph to

- save 21 dollars for a bicycle 1f he saves 114
3 dollars a week? ,

 ANSWER

)

‘ : 3. 'George walks at the rate of 214 miles per

““hour. Henry starts with him and walks
- in the same direction at the rate of 3 miles.
an hour. ' How many miles apart will they

' belnShours? e s

- ANSWER

oy

<4, If 0.78 of the weight of. pbtatoes is water

“ how many pounds of water are there in a

- bushel of potatoes, if a bushel of potatoes

‘ Welghs 60 pounds?

ANSWEPR

- (73)

0y boys égreed to cut a lawn for 90
-cents. The first boy worked one hour and -

" _the second boy worked 4 hours. . How
much money should each receive?

ANSWEPR




Value : 6

By

Find the total cost of the following pur- |
. chases: 814 yds. flannel at 96 cents, 434
. .yds. braid at 16 cents, 12 yds. embroidery

at 2214 cents, 10 yds lace at 27/2 cents. -

i

. The di:stance from New York to Chitdgqf "y -
is 998 ‘miles. - The running time, by the'

ANSWER -

LR

New York Central is 19 hours. ' Because -

- miles’ per hour ‘must 1t go to reach Chlcago ‘

on txme?

. of floods, an engine goes only 296 miles
* the first 7 hours.. After that how many

.. A, B, and C owned all the stock in'a cer- |
~ tain store ‘worth, $4,800. A owned 16 {-
. shares, B 3 shares, and C 5 shares.” What ,
- was the money “value of each persons :
' share of the stock? ‘

- ANSWER

A real estate dealer made a profit of $5,000
on a plot of ground. .The rate of profit

was 20%. Find the cost of the plot.

- ANSWER

10.

It is estimated that if the house fly were -

kept from food, deaths in cities in summer

* ANSWER

would be ¥ less. ' If the deaths in the

summer months are at the rate of 12 per
1,000 people, how many lives might thus

_be ‘saved in one summer in a c1ty of'.‘

1,000,000 mhabltants? :

’

‘
#




Value
(&) |

@n.

(89)

e

(99

' 11 ‘ 1 bought é cask of molasses con'tamlnrg784 b
..~ gallons “for $23. Nine.  gallons having
leaked out, at what price per gallon must

i

1 sell the remainder to gain $4. 25? L

" -ANSWER -

12. A contrattor completed % of a job in 123 -
~days. How many days- longer should 1t :

take to ﬁmsh the Job?

LN

-

 ANSWER

13. In the manufacturing of jute twine, the
* ~raw jute costs 83 cents-a pound, the .

‘ splnnlnv ‘costs 7% of a'cent a pound, and
’the twisting and finishing costs 194 of

a cent a pound. Find the cost of 1500 :

E pounds of jute tvvme 3

 ANSWER

14. On a map, a line 234 inches long repre-

" sents a distance of 132 miles.  How many

/- miles are represented by a lme 8/2 inches
~long? ,

S

E

ANSWER

1. Mr. Wood had 250 baseballs. He sold

-20% of them the first day and 40% of the
- remainder the second day. ~What percent

el »of his original stock was left?

- _ANSWER




